o
[N

<3 @> (rad)
<)
o [
)

.............

.............

PR

.

0 1 2 3
TP n (PCA to beamline)

< d cot(B) >

.............

.............

.............

.............

el

1

2 3

TP n (PCA to beamline)

B i T e
-1 ] é S HIE? 3 ongej%lEST» 2
S ut elTES

e{”h |rsrergeg mo

1
T

..............

..............

..............

.........................

........................

.........................

.............

01 O - SO

...........

<op/p.> (%)
O = N W N O

iy
L LRLERRRRRY

-1

0 1 2 3
TP n (PCA to beamline)

........

........

........

..........

........

...........

-1

0o 1 2 3
TP n (PCA to beamline)

<dd,>(um)

1
T-11
1

00

..........

..........

..........

3 TOONEATRR T
e —

0 1

2 3

TP n (PCA to beamline)



	Contents
	Page 1


